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This is not a difficulty; 3''2 does not agree with p''=.

OVERVIEW

X7 stated that 7737 " derives through a mwn 7% of 2"wxm and 1"V that one
receives Mpon for a mwyn 12 PR 1X.! We cannot refute the mwi 7% by saying that
both 7"wx1 and 1"y are &oip, for °"1 disagrees with ¥"7 and maintains that 27V
Tamr is Pan. Our Mmdon discusses the view of ¥"1 regarding a nwyn 12 PRY IR?.
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"9 does not agree with ¥"7 who maintains that 1''y is a Xe1p (fine).
- NODIP 19097 02197 1PY SPNT NYPY 22957 XN ¥Hawn

It seems from here that according to ¥'' who maintains ''v is a 017 -
=3R4 IND 9995 381 YT 19 PPIY NUPM 12 PRY IND 1199 179y

He (¥"1) does not maintain that %y P> mwn 12 KRR XY, since he cannot
derive it through this mw:s 72 from where "1 derives it.

nooIn asks:
- Y ‘0493 oINYs P19 (a,x5 91 mpv) 9N RIYPY 229 NNT YR

And there is a difficulty for »''" maintains, one who sustains 2°8%> in his

vineyard receives mpvn -
- "Awpn 13 PRY INY N7 SNt ANSNYD DTV P9102 1IN NINY 19901 TIIYA W)

And the 797y explained that the meaning of 0752 o°X?> o»pni is that the owner
leaves the o°x?> which he found planted, to remain at the edge of his field;
which is a 72y» 12 PR 18D, so why should he receive np%n according to ¥ —

! Both by 7"wxw and 1"y they only spoke but did no action and nevertheless they receive nipon.
% If we maintain that 1"y is a 01p (as is the 73 81 by a 7"w¥m) we can no longer derive that there is Mpon by a W%
Twyn 12 PRY if it is not a 0Ip, for we cannot derive any rulings from cases of 01p. See ‘Overview’.
? See footnote # 2. [It is apparent from this 20 that it is 2py* 1 who argues with "1 in our X’310 but not X2°py .
See the marginal notes.]
* See the X7 there that (according to ") there is a prohibition for keeping and sustaining 2°%3, which is derived
from the P09 (in v*,v> [Dw17P] XIP*1) which states "3 2°R?3 ¥rn K2 978 20899 ¥°370 K2 0002 NRWR NPT DY; we
interpret the words X2 [7w 2°X%3, to mean that one may not allow his field to contain 2°k%5; he must uproot it. See
‘Thinking it over’.
3 The w"w" amends this to read (1N (instead of 7103).
% The owner found 2°v1 (grain or vegetables) growing in his vineyard which he did not plant. The 2>¥"71 in the
vineyard is considered 0°%7> which must be uprooted.
7 Granted that the owner transgressed the W3, for he should have uprooted the 2°%3, but it is a wyn 12 PR W (the
owner did not do anything wrong), there should be no mp>n arn.
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mooin offers an alternate interpretation of 71217 0952 0°X%5 0»pPn1; not like the [(17y:
$OINYIN 2920 97 DUV 139N 0992 DINY 0P1NNT NI TaY

Therefore it seems to 19010 that 2722 2°%%> 2"p»7 means that the owner made

a fence around the 2°8%> (to protect the growth). Therefore he receives mphn because now
it is considered a nwyn 12 W w WRY; the building of the fence to promote the growth of the o°&%>

SUMMARY
¥'"9 maintains 1°7¥ P17 PR wWYn 12 PRY XY and the rule of 3P 0702 X7 oYpnn is
only when he did a nwyn (like building a fence to protect the o°X53).

THINKING IT OVER

mooIn asks from the X3 later® where it says that ¥"1 maintains 7212 2°%2> o»pni.’
However, the X713 there actually reads, 972X X2°pY 227 7217 Q°KXD22 7OMNM WIIAT X2IN
o> P AR, but it does not state clearly that ¥"3 maintains that there is a mpo» 211
for 0°&92 0>pn. Perhaps "1 is wnn that there is a W7 for o°k%> 0*pn, but not a 217
mpon?

8 a,x0.
? See footnote # 4.
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